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Q.No: 1 which of the following is the origin-state of the Indian classical dance Mohiniyattam?

2419255
FrofifEd ¥ 9 -1 yRdla TR Jd wiikHeEd F qu-3 87
Kerala
A
Fa
Maharashtra
B
TERTY
West Bengal
C
ufgm g
Gujarat
D
LEHE)

Correct Ans : A

Subject : General Knowledge

Q.No: 2 which of the following musical instruments does the Mashak of Rajasthan resemble?
2419260

FrofofEa & 4 1 1 9 3 T9RIE $ 5 9 e goa 82
A Piano
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ferar=t

Bagpipe

TSy

Guitar

Banjo

it

Correct Ans : B

Subject : General Knowledge

Q.No: 3
2419264

The Dilruba is a type of -

ool U TR H1 B € -

Percussion instrument

DIGECIP

Stringed instrument

R d97ell 91 Ud

Wind instrument

T T TH

It is not actually an instrument

g qed | O 9T O T8l &

Correct Ans : B

Subject : General Knowledge
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Q.No: 4 Which of the fellowing musical instruments is Dr. Lakshminarayana Subramaniam associated with?

2419267

. wafFRTe geroan Pofafea 7 & frw o o & g 82

Tabla
A

GEGU

Sitar
B

R

Violin
C

arafee

Sarod
D

wig

Correct Ans : €

Subject : General Knowledge

Q.No: 5 Which of the following sparts is Sir Mo Farah related to?

2419406
T 71 e e I 9 e T § geiid 87
Track Athletics
A
¥ yaRe
Tennis
B
G|
C Football
https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 311

Page 3



4/23/23, 10:43 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

L TEIN)

Table-tennis

e
Correct Ans : A

Subject : General Knowledge

Q.No: 6 Choose the odd one out -

2419408

Fererm g -

Cassius Clay
A

Hirw =

Henry Cooper
B

RHERH

Floyd Patterson
C

TS Yexe

Mark Henry
D

T T

Correct Ans : D

Subject : General Knowledge

Q.No: 7 Who out of the following does NOT have 20 or more career men’s singles Grand Slam championships?
2419420

Fofafea & 9 frae org 20 W T FIER 739 Ha I8 ©m e 78 82

Roger Federer

AR HeR
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Rafael Nadal
B

Tt TSI

Novak Djokovic
C

Arare At

Daniil Medveveev
D

e Agddia
Correct Ans : D

Subject : General Knowledge

Q.No: 8 In India, which of the following longitude is treated as the standard meridian?

2419481

WA H, Fofafed # ¥ 59 3w 91 7 aeiee Y 7 o 67

85%:°E
A

85%:° 5

S4%°E
B

84140 S

§212°E
(o

82108

811 E
D

811° 3

Correct Ans : C

Subject : General Knowledge
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Q.No: 9 Which of the following is NOT one of the three chief movements of ocean waters?
2419490

Frgferfa 71 @ w1 @ wer o @ dE g T @ T e e

Tidal
A

waN

Wave
B

i

Water Current
[¢]

TR ey

Ocean Current
D

TERTRIY (R

Correct Ans : €

Subject : General Knowledge

Q.No: 10 Which of the following is the minimum age to qualify for becoming a Rajya Sabha member?

2419716
TTHUT HER T P AR W A P (0 A9 T § S 4 I org 82
25
A
25
28
B
28
C 30
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30
35

35
Correct Ans : €

Subject : General Knowledge

Q.No: 11 Which of the following dignitary appoints the Chief Election Commissioner of India?

2419740
Pifefad 7 3 S7 w1 o safdr YR % g8l g sngad o Fyfdt sar g2
Chief Justice of India
A
URH % TET =grare
The President of India
B
YRA & Apufa
The Law Minister of India in Consultation with the Prime Minister
C
TUF Wit & Wl ¥ YR & S
The Prime Minister in Consultation with the Leader of Opposition.
D

fave & a1 ¥ ary WAt § gue 1t

Correct Ans : B

Subject : General Knowledge

Q.No: 12 which of the following Committees recommended coenstitutional recagnition for the local government bodies?
2419756

Frofafes & & fw afifa 3 =re e fert & fim St 7= 31 it e

P.K. Thungon Committee

4.3, ¥ |l
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Ashok Mehta Committee

B

it T At

Balwant Rai Committee
C

add I |k

Vijay Shekhar Sharma Committee
D

forora S =i afufe
Correct Ans : A

Subject : General Knowledge

Q.No: 13 who was the first Chief Election Commissioner of India?

2419760
HRA P I T TG SIE B 47
Kalyan Sundaram
A
0T e
V.S. Ramadevi
B
dtow. Tmefy
T.N. Seshan
Cc
. S
Sukumar Sen
D

TPAR 7
Correct Ans : D

Subject : General Knowledge

Q.No: 14  Which of the following is the state-bird of Madhya Pradesh?
2419965
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7 & ¥ $F-W A uew w1 e ualt 62
Collared Falconet
A
Bl BTeHHT
Paradise Flycatcher
B
EHSIEEREIFE T
Great Cormorant
C
e Siake
Great Egret
D

e Qe
Correct Ans : B

Subject : General Knowledge

Q.No: 15 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

2416522
1 two miles this morning.
A swam
B has swim
Cc have swim
D has swam

Correct Ans : A

Subject : General English

Q.No: 16  Out of the four alternatives, choose the one which can be substituted for the given words/sentence.

2417098
A person who believes that nothing is known or can be known of the existence or nature of Ged.
A Agnostic
B Devotee
C Hermit
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D Martyr
Correct Ans : A
Subject : General English

Q.No: 17 Out of the four alternatives given below the sentence, fill in the blank with the correct word.

2571057
The couple’s marriage to the communities living together in harmony.
A leads
B lead
C leading
D led

Correct Ans : D

Subject : General English

Q.No: 18 Fill in the blank with the correct article.

2571089
A cup of hot coffee is what I desire after _ long day.
A a
B an
C the
D No article is required.

Correct Ans : A

Subject : General English

Q.No: 19 In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the proverb.
2571090

The early bird catches the worm.
one who arrives first has the best chance for success
one who arrives first lives on charity

one who arrives early keeps wild animals away

[ T -« A -

one who arrives early is likely to make up his house

https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

Page 10

10111



4/23/23, 10:43 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx
Correct Ans : A

Subject : General English

Q.No: 20 Identify the segment in the sentence which contains the grammatical error from the given options.

2571326
Time and technology are two important factor that which change substances into resources.
A Time and technology
B two important
C factor that which
D resources

Correct Ans : €

Subject : General English

Q.No: 21 Qut of the given options, choose the most appropriate one to fill in the blank.

2571349
The beggar _______ down by the side of the road.
A sat
B have sat
C have sit
D has sit

Correct Ans : A

Subject : General English

Q.No: 22 Qut of the given options, chogse the most appropriate one to fill in the blank.

2571366
Columbus America.
A discovered
B have discover
o) have discovered
D has discover

Correct Ans : A
Subject : General English
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Q.No: 23 Out of the given options, choose the most appropriate one to fill in the blank.
2571406

An unforeseen difficulty

A has arisen
B have arise
C has arise

D have arisen

Correct Ans : A
Subject : General English

Q.No: 24 Select the correct passive form of the given sentence.
2581217
Please show me my son's Mathematics notebook.

I will please be shown my son's Mathematics notebook.
I may please be shown my son's Mathematics notebook.

My sons’ Mathematics notebook was please shown to me.

o N0 W

My son may please be shown the Mathematics notebook.
Correct Ans : B

Subject : General English

Q.No: 25 DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
2581309 Choose the correct alternative. In case no improvement is required, choose “No Improvement” option.

We stood quietly for few moments as a sign of respect for the martyrs.
for the few moments
for a few moments

for some few moments

o Nn W >

No improvement
Correct Ans : B
Subject : General English
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Q.No: 26 DIRECTIONS: In the following question, a part of the sentence/sentence is underlined. Below are given alternatives to the underlined part which may improve the

2581310 gentence. Choose the correct alternative. In case no improvement is required, choose “No Improvement” option.

It is an honour to meet the president of India.
A a honour
B the honour
C any honour
D No improvement
Correct Ans : D
Subject : General English

Q.No: 27 DIRECTIONS: In the following question, a part of the sentence/sentence is underlined. Below are given alternatives to the underlined part which may improve the

2581315 gentence. Choose the correct alternative. In case no improvement is required, choose “"No Improvement” option.

My mother speaks not only Hindi but English also.

A but also English

B yet also English

C but English

D No improvement

Correct Ans : A

Subject : General English

Q.No: 28 DIRECTIONS: Read the sentence to find out whether there is any grammatical mistake/error in it. The error, if any, will be in one part of the sentence. Mark that part as

2581363 your answer. If the sentence is correct, mark (4) (no error) as your answer. (Ignore the errors of punctuation, if any).

Lina saw the (1)/blind man crossed the busy street (2)/without any help (3)/No error (4)
1

A

B 2
C 3
D 4
Correct Ans : D

Subject : General English
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Q.No: 29 DIRECTIONS: Read the sentence to find out whether there is any grammatical mistake/error in it. The error, if any, will be in one part of the sentence. Mark that part
2581366 55 your answer. If the sentence is correct, mark (4) (no error) as your answer. (Ignore the errors of punctuation, if any).

The pride of lions (1)/was feared by all animals {2)/in the jungle (3)/No error (4)
1

o 0 W

2
3
4
Correct Ans : B

Subject : General English

Q.No: 30 For an object thrown in vertical direction and returned back at the same spot-
2420234

Tw St o A e o I W W A et avg % o -

distance travelled > displacement

A
g @) T gl > faege
distance travelled < displacement
B
TG B T < faeu
distance travelled = displacement
C
a4 &1 1 gl = fawgT
distance is not zero but displacement is zero
D

ot 7 T & A R = 2
Correct Ans : D

Subject : General Science
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Q.No: 31 If a conductor of capacity C is charged to a potential V by giving it a charge q, then energy stored is represented by

2420258
Tf e (FRTEE) cmwwwﬂﬁ@wvnaﬁq?’ﬁaﬁ?%w’{ CBLEPEICE
EESIRIE IS
cv
A
cv
Qv
B
Qv
0.5CV
o
0.5¢Cv
0.5 QV
D
0.5 Qv

Correct Ans : D

Subject : General Science

Q.No: 32 Eutrophication can’t be caused by -

2420411
FUISOT &I HRUT LT &) Tl ¢ -
Nitrates
A
Phosphates
B
LAt
C Ammonium salts
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i eaur

Oil slick

e wa

Correct Ans : D

Subject : General Science

Q.No: 33 Out of the following fuels, which fuel can be said to be most environment-friendly?
2420420

Proff@d S § A F9 W S walfte vafavu R} wer o w22

Petrol

A
g
Diesel

B
o
CNG

C
e
HCNG

D
LCRRC e

Correct Ans : D

Subject : General Science

Q.No: 34 Which one of the following diseases is NOT transmitted through food and water?
2420543

Frefared & § S 91 3 JeH iR ot § 72 thaw 37
A Cholera
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e

Typhoid

CIRPIES

Jaundice

yiferar

Influenza

R
Correct Ans : D

Subject : General Science

Q.No: 35 which one of the following diseases cause bones to become weak and brittle?
2420566

frofafea & A fra 3m % Pru 5iEa! FHeR ok iR & ol 82

Scoliosis

A
TeIfra
Osteoporosis
B
SifeeaRIRE
Plantar fasciitis
C
T P Besifed
Arthritis
D
nfear

Correct Ans : B

Subject : General Science
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Q.No: 36 Which of the following metals has the highest melting point?

2420678
FrafefEa 7 9 o urg @1 TeAe SwH g §?
Calcium
A
Hiemm
Strontium
B
e
Barium
C
afam
Lead
D
s

Correct Ans : A

Subject : General Science

Q.No: 37 Which of the following is @ neutral oxide?

2420696
fFrafafas & F F19 91 3= ([ga) STz 27
Nitric oxide
A
RRw sifes
Dinitrogen trioxide
B
STETIRGIo grsiaTES
Cc Nitrogen dioxide
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g SIS S

Dinitrogen tetroxide

SR SEITES

Correct Ans : A

Subject : General Science

Q.No: 38 On which of the following should water be NOT used as a fire-extinguisher?

2420703
a7 A e v e ggm & R o o i A8 S s ke
Wooden items
A
AFS F AHAA
Paper items
B
IwR arged
Furniture
(o
wHRR
Electrical items
D

faega smgen
Correct Ans : D

Subject : General Science

(21;"\'2‘:;73;33 Who stated that, “In a chemical substance the elements are always present in definite proportions by

mass”?
fooga w1 ¢ &, "t TrE® gard | oo gH goaA & Fidd squia d Aigasla g
A Joseph Proust
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ST yEee
Guillaume-Francois Rouelle
B
freia-wicks &g
Pierre Macquer
C
foa A
Denis Diderot
D

e sESRe
Correct Ans : A

Subject : General Science

Q.No: 40  The vascular tissue for the transport of water and nutrients in the plant is known as which of the following?
2420922

oY F ot SR 99 T@l & Ihaed & KT 99 Sae @ FEied 5 ¥ 59 w9 § 9 9 g2

Xylem
A

wrgad

Phloem
B

TgH

Capillaries
C

Egiicaut

Atria
D

R

Correct Ans : A

Subject : General Science
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Q.No: 41 A pistil does not consists of which of the following?

2420925
T WP 7 ol 73 w5 T8 e o
Stigma
A
ahiem
Style
B
afder
Ovary
C
Epip
Pollen grains
D

TRTTHOT
Correct Ans : D

Subject : General Science

Q-No: 42 The transformation of the larva into an adult through drastic changes is known as which of the following?

2420963
Fo [A99 uRadH! & | ¢S & a0 1 uiaeq &1 FAufifed ¥ € 69 &9 8 S o g7
Viviparous
A
SRS
Oviparous
B
SISy
C Embryo
https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 2111
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Yo

Metamorphosis

BRI

Correct Ans : D

Subject : General Science

Q.No: 43 The stage of the embryo in which all the body parts can be identified is known as which of the following?

2420964
3ol B g e Rl wR & el ol o vgEr @t on W 3, Fafafaa 7 9 8 v @
Foetus
A
T
Zygote
B
RILE
Budding
C
gga
Binary fission
D

frdsT
Correct Ans : A

Subject : General Science

Q.No: 44 while searching the infermation in Internet, we may came to notice ‘HTTPS'. What does 'S’ represents?
2411625

2T R AHERI TOd THY, T8 'HTTPS' &3 T3 &1 398 S 07 &2aT &7

Secure

i (Secure)
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Storage

e (Storage)

System

R (System)
Simple

Riger (simpte)

Correct Ans : A

Subject : General Computer

Q.No: 45
2411691

D

What is the full form of *‘SMPS' used in the computers?

IR F T {3 S el "CHuHGRT &1 R A 1 g0

Semi mode power storage.
i uraR

Switch mode power station.
e R

Split mode power stabilizer.
qray

Switched mode power supply.

= His uar 9wrs

Correct Ans : D

Subject : General Computer

Q.No: 46
2411703

https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

What is full-form of ERP?

ERP T 1 A9 T &7

Enterprise Retirement Planning

Enterprise Retirement Planning
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Enterprise Relationship Planning

B
Enterprise Relationship Planning
Enterprise Resource Planning

o]
Enterprise Resource Planning
Enterprise Reorder Planning

D

Enterprise Reorder Planning
Correct Ans : C

Subject : General Computer

Q.Na: 47  which of the following part of the computer coordinates all its functions?

2411708
1 F I SR &1 S 1 Ui o gt Sl &7 Sy S 87
ALU

A
afvdfes wife gfie (ALU)
Mother Board

B
TR A
Storage

c
L
Control Unit

D

FUgd gfHe
Correct Ans : D

Subject : General Computer

Q.No: 48 The UNIX, which command is used to display the message or value of any variable on the screen.
2411711
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AT, P W FAE T W fH il TR F 93w gy #1 veli F F R wd e 37

Char
A

Char

Info
B

Info

Ping
(o

Ping

Echo
D

Echo

Correct Ans : D

Subject : General Computer

Q.No: 49 Instruction in computer languages consists of

2411722
dugex Wi A AT
OPCODE
A
OPCODE
OPERAND
B
OPERAND
Source code
C
IR B (Source code)
Both OPCODE and OPERAND
D
OPCODE 3k OPERAND i
https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 25111
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Correct Ans : D

Subject : General Computer

Q.No: 50 Ifin a computer, 16 bits are used to specify address in a RAM, the number of addresses willbe ______ bits
2411723
ufg Tt woER #, RAM T address Ty w37 & forw 16 e @1 Iwd fdmm siran @, & address 31 w@n faed guft
216
A
216
64K
B
64K
65536
[
65536
1028
D
1028

Correct Ans : C

Subject : General Computer

Q.No: 51  Which of the following layer is responsible for transmission and reception of the unstructured raw bit stream over a medium?

2411736
o & & 1 W IR T meEn W eRied S Ty $ g R | # e fer 82
Application layer
A
TR WA
Physical layer
B
frforpa w=a
C Data link layer
https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 26111
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et R v

Transmission layer

R wa
Correct Ans : B

Subject : General Computer

Q.No: 52 Inthe C coding ‘<stdio.h>"is used as a file.
2411843 C BT H '<stdio. h>' IEd & &Y § ganT o S g
A Subroutines

HaFEIT (Subroutines)
B Footer

Tc(Footer)
c Header

E€s¥(Header)
. Increment

FPIAc(Increment)

Correct Ans : C

Subject : General Computer

Q.No: 53 Who designed and developed the Difference engine?

2411871
e o 1 By o AR B fam = 7
Blaise Pascal
A
G UNPd
Joseph Jacquard
B
TR ST
Charles Babbage
Cc
e
D Harmen Hollerith
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Correct Ans : C

Subject : General Computer

Q.No: 54 Which of the following is not a computer virus?

2411881
Frofee 4 $1 U TRE T8 82
Melissa
A
aferam
ILOVEYOU
B
ILOVEYOU
Creeper
[
Edin
Code Red
D
Larcke

Correct Ans : D

Subject : General Computer

Q.No: 55 Which Logic gate has one input and cne output?
2411886

R wiffors e A 1% $0e SR 0% amaeye g &
OR Gate

OR 7l

B AND Gate
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AND i1

NOT Gate
c

NOT e

NOR Gate
D

NOR 7T

Correct Ans : €

Subject : General Computer

Q.No: 56 Which of the following output device is used to print graphics?

2411894
Praferiea & 9 w1 -1 sirgeye fEarsy Aithaw i & & i gwdi e oman 82
Plotter
A
wiex
Dot matrix printer
B
gie Afeww fiew
Laser Printer
C
ez fiiey
Inkjet Printer
D
g fifer

Correct Ans : A

Subject : General Computer

Q.No: 57 In which type of topology all the devices are connected to the central controller?
2411901
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59 YR # Siatel F weit gusr S Fdae § 9RO 7

Star Topology

A
wR gt
Ring Topology
B
Lukaricisil
Mess Topology
C
¥ Thurart
Tree Topology
D

& Sdraich
Correct Ans : A

Subject : General Computer

Q.No: 58  Select the term that will come next in the following series.
2417576

AXN, DUQ, GRT, ?

TE U B T I o Ffarad g § o s

AXN, DUQ, GRT, ?

XZY
A

Xzy

RPN
B

RPN

vTuU
(o

VTU
D Jow
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Jow

Correct Ans : D

Subject : General Reasoning

Q.No: 59 Select the term that will come next in the following series.

2417579
AUS, BVT, CWU, ?
I8 UE P19 B ol FfclEd e # om s
AUS, BVT, CWU, ?
DXV
A
DXV
XFV
B
XFV
XVF
C
XVF
VFX
D
VFX

Correct Ans : A

Subject : General Reasoning

Q.No: 60 Find the odd one among the following.
2417621

Frefafea & 3 fowm 70 S
Part

Part
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Trap
B

Trap

Cart
C

Cart

Dart
D

Dart

Correct Ans : B

Subject : General Reasoning

Q.No: 61 In the following question, select the related letters from the given alternatives.
2417739 PARTS : STRAP :: WOLF : ?

oot 93T H, U v fawedl 7 & TafOq 3aRT &1 99 H1
PARTS : STRAP :: WOLF : ?

FOX
A
FOX
ANIMAL
B
ANIMAL
WoobD
C
woobD
FLOW
D
FLOW

Correct Ans : D

Subject : General Reasoning
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Q.No: 62 1If in a certain code language ‘HACB' is written as ‘8132’, then how will ‘DEFA’ be written in that language?
2417754

g s [y Tie wmw § *HACE’ @1 *8132’ fram Wl &, A1 "DEFA’ &Y 39 ST 7 &8 ferar Smeam?

4651
A

4651

4561
B

4561

4156
C

4156

5641
D

5641

Correct Ans : B

Subject : General Reasoning

Q.No: 63 Ifin a certain code language ‘SSC’ is written as 19193, then how will ‘BBC’ be written in that language?
2417760

Tl w (HiEa Fie uw ¥ *SSC” F1°19193 TerRal 1aT &, @ 'BBC” 1 39 W I ¥ Tor@n smeme

113

A
113
221

B
221

C 223
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223
213

213

Correct Ans : €

Subject : General Reasoning

Q.No: 64 *HELLO’ is coded as 15]12| 12|58, then “WHERE’ is coded as:

2417761
'HELLO' &7 1512 | 12| 5 | 8 & &9 # &Hfed far Siem &, oF "WHERE® &1 fard vahR &fed
TR sream 2
16]13|13]69
A
16113131619
5118]5]8]23
B
5118]5]8]23
5051181238
C
505[18]23(8
51501818123
D
515]18]8123

Correct Ans : B

Subject : General Reasoning

Q.No: 65 Suresh leaves from his home towards office. He walks straight & turns to his left, walks for some time, again takes a left turn, walks for a few minutes, takes a right turn
2417915 and reaches his office after a left turn. If his office is to the south west of his house, which direction does he face while entering the office?
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I HIER S F [T oA = Faaar ¢1 9 i Few 3 ofR 3 arff ok 431 3, $© 999 Jad1 8, O arfl ok 49a1 8, 3@ e & R 9o 3, il ok g @ SR e oy g
F 915 O FEf Tgaa §1 afE IHeT Ffy 9% W & -l &R0 #1 $R @, @ Sioy ¥ 7aw & gy 39T 59 59 &9 # o geme

East
A

o

West
B

ufEm

North
C

g

South
D

e

Correct Ans : D

Subject : General Reasoning

Q.No: 66 Hemant walked some distance towards north. He then took a left turn and walked double the distance towards his left. Now, he took a right turn and walked half the
2417920 (istance. Finally, he moved 10m to his north. In order to get back to his initial position along the shortest distance, in which direction he must move now?

‘U IR Ren 31 ok 1o o gl 0% 941 I9F 912 98 a1 SR YT AR oo 9 ok g gt ae Tan ofF, 98 9 o gt o ol gft o =
3 H, 98 U ST 1R T 3 10 TWiex =ell| U RIS W W 98 Bl g8 ¥ 910y o4 & A 4 39 {59 321 & am gg1 Tiger

North-west

A
ITR-uiEw
South
B
Gl
South-west
C
SH&ror-aidm
D South-east
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afgor gd

Correct Ans : D

Subject : General Reasoning

Q.No: 67 Jf83*7 @ 16 % 2=282and 68 * 7 @ 18 % 3 =69, then in the expression, 12 * A @ 10 % 2 =7, what
2417948 o yhe value of *A’?

A3 *T@16%2=823R68* 7@ 18% 3 =69% AN TTH, 12*A @ 10 %2 =7 A" &I
AT FATR?
1.5

0
Correct Ans : D

Subject : General Reasoning

Q.No: 68 Tfp*7#1=75and 71 * 100 # 2 =58, then in the expression 3 * 6 # A = 30, what is the value of 'A"?

2417949
e 2*7 2 1=5371*100 £2 =58 . AT el 3 * 6 # A =30 %, A" FI AT FaT §7
15
A
15
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5
B

5

10
o]

10

6
D

6

Correct Ans : C

Subject : General Reasoning

Q.No: 69 1f39-13# 10="7and 98 - 14 # 20 = 13, then in the expression 48 - 12 # A = 1, what is the value
2417954 c1ain

afg39-13210=73R98-14220= 138, A TAR 18- 122 A = 1 & A’ &1 A fohalaAT 87

6
A

6

3
B

3

5
C

5

4
D

4

Correct Ans : €

Subject : General Reasoning

https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 37111

Page 37



4/23/23, 10:43 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

gﬂ.%o?s If, P denotes *+’, Q denotes ‘x’, R denotes ‘+’ and S denotes ‘-, then
18Q12P4R5S6 =?

g Pt §, QT ad < § RFTd+ R Rk sy — §, A MmRfea nem T AE Ara Y
18Q12P4R5S86 = ?

53
A

53

54
B

54

57
C

57

95
D

95

Correct Ans : A

Subject : General Reasoning

Q.No: 71 Anil is taller than Sunny, who is shorter than Baby. Anil is taller than Bose, who is shorter than Sunny. Baby is shorter than Anil. Who is the shortest?
2421052 ff¥d, T & dar 8, o §et @ Bier g1 aifa, 9 d dar g, o T Y wier 1 8, afta 9 91 81wl Bt e 22

A Anil
Baby
& adf
c Sunny
D Bose

Correct Ans : D

Subject : General Reasoning
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ga';Nzoj,:57329 What should comein place of the question mark (?) in the following question?
83 +7-16*=73+112

o wy & warde fomg (2) & I R 21 9Iige?

§ 2 -167=73+ 112

182
A

182

192
B

192

202
C

202

208
D

208

Correct Ans : D
Subject : General Maths

Q.No: 73 Simplify-
2421576

163 - (?)2 = 3696

TR HfoTT-
163 - (22 = 3696

20
A
20
B 22
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22

24
c

24

26
D

26

Correct Ans : A
Subject : General Maths

Q.No: 74 Find the LCM of 0.6, 1.8, 0.36

2421592
0.6, 1.8, 0.36 &1 A.4. I1d HL?
3.6
A
3.6
1.8
B
1.8
7.2
C
7.2
10.8
D
10.8

Correct Ans : B
Subject : General Maths

Q.No: 75 A Gardner has 39 apple trees, 78 banana trees and 143 mango trees. He wants to plant them in rows in such a way that each row contains only one type of plant and
2421599 450 has an equal no. of plants. Find no. of minimum rows.
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UF ARl & ORI 39 99 F U9, 78 $A & U AR 143 o9 F U9 1 98 ! 39 UHR Ul I AT =g € ¥ vde ufed F o @ veR & 0 @ oft sy 81 < e ufddl ot g
TR i

17

17

13

13
18

18
20

20
Correct Ans : D
Subject : General Maths

Q.No: 76 There are four prime numbers written in ascending order. The product of the first three is 385 and that of the last three is 1001. The last number is?

2421647 IR U TR RIS w0 7 gt g€ €1 foed 3 wuw = @1 oreea 385 SR ifaw €9 @1 oEwa 1001 7)1 sifaw e -

A i
B3
1
b n

Correct Ans : C

Subject : General Maths

Q.No: 77 A shopkeeper has 25 cartons of sweet boxes with him and each carton has 60 sweet boxes and each box has 15
2421686 sweets. If 10% of sweets present in 18% of boxes in 20% of the cartons are barfi. How many barfies shopkeeper
has?
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E G O fHers ¥ fedt & 25 @t g § 3 Gl e i 60 Werd Awrwm i § i
wois dfgw & 15 Fosal g1 §1 I 20% FEA 7 18% qFw 7 Aleg 10% Fers aff
ETGR & 9 feelT @t 82

54

54
92

92

81

81
104

104
Correct Ans : €

Subject : General Maths

Q.No: 78 In measuring the side of a square, an error of 5% in excess is made. The error percentage in the calculated area is:

2421699
TH T P Y 79 T 5% et 91 sfied urlt w31 dEwd X adt ot wiwad g
25%
A
25%
10%
B
10%
9.75%
C
9.75%
10.25%
D
10.25%

Correct Ans : D
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Subject : General Maths

2‘-"\'201‘77:2 P’s salary was increased by 40% and then decreased by 20%. On the whole, P's salary is increased by -

P & &ae 40% derl Tl & 3R T 20% werar Srar §1 907 §9 4 P &1 Iad deT &

60%
A

60%

20%
B

20%

12%
C

12%

8%
D

8%

Correct Ans : €

Subject : General Maths

Q.No: 80 The difference between successive discounts of 40% followed by 30% and 45% followed by 20% on the marked price

2421739 T i -
of an article is Rs. 24. The marked price of an article is:
U GE W 40% T T 30% 3R 45% T T 20% Te & wiad Fel ar Al T 24 §, o a5g & JHfnd #ea Aa a?
Rs. 1400

A
%. 1400
Rs. 1800

B
¥. 1800

c Rs. 1200
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¥. 1200

Rs. 1000

¥. 1000
Correct Ans : C

Subject : General Maths

Q.No: 81 The value of 2"1-27/2"*+2" 1 g
2421811

2mL-22m 4420 T A §

-1/36
A

-1/36

2/3
B

2/3

1/13
C

1/13

5/13
D

5/13

Correct Ans : A

Subject : General Maths

Q.No: 82 [f m and n are whole numbers such that m" = 121, then the value of (m-1)""1 is:
2421815

T mAT N ErEEN SR FEm” = 121, @ (m-1) "W AAE
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1
A
1
10
B
10
121
C
121
1000
D
1000

Correct Ans : D

Subject : General Maths

Q.Na: 83 A dishonest milkman professes to sell his milk at cost price but he mixes it with water and thereby gains 25%. The

2421933 . i i
percentage of water in the mixture is:
TS ASAI GUATET HI XN & eTed Hed I dde &l Gl &{cll &, eiiehed I8 S8 T e &l & ToTad 38 25% o7 o1ef 9Ted ghel
¥ AT 9Tl @ igud &
4%
A
4%
1,
63 Yo
B
1,
6 3 Yo
20%
o]
20%
D 25%
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25%

Correct Ans : C

Subject : General Maths

Q.No: 84 A merchant has 1000 kg of sugar, part of which he sells at 8% profit and the rest at 18% profit. He gains 14% on the

2421539 whole. The quantity sold at 18% profit is:
T AT & SR 1000 Rt 9 &, TR T R 9 8% W 9T A AR 18% o1e O ST Bl 98 T SR 9 14% T ol
qTed FaT ¥ 18% o 9T A< I AT R
400 kg
A
400 kg
560 kg
B
560 kg
600 kg
c
600 kg
640 kg
D
640 kg

Correct Ans : C
Subject : General Maths

Q.No: 85 200 litres of a mixture contains milk and water in the ratio 17 : 3. After the addition of some more milk to it, the ratio of milk to water in the resulting mixture becomes 7
2421965 : 1, The quantity of milk added to it was?

200 Titex o & go R U BT S0 17 1 3 €1 Y @1 $O A FRH U= g4 SR U BT S| 7 ¢ 1 S o &1 < S Sitor e gl fEmn e
A 20 litre
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20 dlex

40 litre

40 e
60 litre

60 dex
80 litre

80 flex

Correct Ans : B

Subject : General Maths

Q oz B e #f 3 e @@ W-fwde @ ¥

2414115

A Tdl + ot
B g + ondt
[ afg + afy
D ot + oy

Correct Ans : €

Subject : General Hindi

QNo: BY  pyfafr 7 @ -9 Sieg e ST 1 ETER0 A 37

2414142
A AT
B frrerm
c =

D ClL G

Correct Ans : D

Subject : General Hindi

Q.No: 88 PRI A I 2o Te8 BT 99 HIford-
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2414154

A BRIH
B EEi
C ETicin
D RN E

Correct Ans : D

Subject : General Hindi

QNo: B9 arq et g &1 i & & Red fvan o1 saree &7

2414175

A awde T
B Srpr fman
c gdprers famm
D Romdw fmar

Correct Ans : B

Subject : General Hindi

O:No: 90 varg, v o e PRI A @ v T v 27

2414245

A &
B e
C fuers
D =T

Correct Ans : D

Subject : General Hindi

QNO: 9 o it 35 e ST S GRT T T S S R, & T w32

2414359
A CIGE e
B e e
C & e

D aivsaT aierT

Correct Ans : D

Subject : General Hindi
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e o, PRI 7§ o A A e 1 o -

2414414

A wdfafea
B K B Eei
C SFaiYs
D B

Correct Ans : D

Subject : General Hindi

Q.No: 93 g 7 | @AW To, TR ridR uRd gy fordh 7 32

2414489
A TATET & dadr
B YR e

o Shufiran

D vEmad

Correct Ans : A

Subject : General Hindi

QNo: 9 fraferea 7 9 T IgTe @1 e WA P T 82

2414561

A iy it
B fafer - fefimt
c gfea - gz

D fufear - Rifgat
Correct Ans : C
Subject : General Hindi

Q.No: 95 ¢ 5 3
2214551 FrefafEa § A FH-I I USSR Bl TR0 T 87

A afg qH Tg-d ST, O W g e
B g 9 T Fer

c a7 anft Wiev i g1

D fasra @t ghmi
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Correct Ans : C

Subject : General Hindi

Q.No: 96 4= S Jrem 3 T T AT WY B A2

2414630

A Ul
B diew

C o

D Fearar

Correct Ans : A

Subject : General Hindi

Q-No: 97 ' e # 4 srgg a1 1 70 -

2414728
A Pifrerd Ft IuaTd Feilg 21

B S wafafide frergal vews 21

c TR Froe=Ro TE F1 e A a|
D &8 =1 s T Srdfdm B

Correct Ans : €
Subject : General Hindi

QNo: 98  Fymferfiea 1 ¥ fare arey i orqef et forg et vt foen wran 22

2414776

A g D1 T Y@I-™

B FEYAT A I | P, A W e

c 10% Qe T AU YT ST 100 Hiedr I S
D forgm: aver o sfimma

Correct Ans : D
Subject : General Hindi

Q.No: 99 Frfafea & § aram & waiford arwaig & forg i Rw e R & § Sfa geme 1 597 Fifem-

2414827
giien-vaT B e F b e ¥ w5 T 16 <5 g el 9 v 1 3w

A A I

B FEEREE
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c TG § A
D BIeg @1 4@ I
Correct Ans : B

Subject : General Hindi

QNo: 100 pyrffim 1 4 w1a-1 fawen e 1 yalera/ae) &9 82

2414847
A Gt dtar & g wig firem 7 ggam

B 2t & & T AT e 7 ggen)

c it & 7T 9Tu ggen fire T wid)
D A1 i M A e fiem 7 )

Correct Ans : C
Subject : General Hindi

Q.No: 101 If the number of divisions is 4 and d = 1.5m, find the length of the baseline.

2579079

afe faursHl 31 T8T 4 8RR d = 1.5m § T 3MUR X1 3 94 I S

2m
A

2m

6m
B

6 m

25m
C

2.5m

8m
D

8m

Correct Ans : B

Subject : Civil Engg.(Diploma)
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Q.No: 102 What is the formula for area by average co-ordinate method?
2579080
siroa Féwie falt g1 S i F BT 9 T R
A=(L*30)(n-1)

A
A=(L* TO}(n-1)
A={L+ TO¥n:1)
B
a={L+ TO¥m+1)
A= (L-T0)(n+1)
C
A= (L-T0)(n+1)
A=(QL* TO)(1)
D

A= (L*X0)(m+1)
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 103 If the ordinates are provided as 25 m, 44 m, and 20 m, then the value of d is 2 m. Determine the area using the mid-ordinate.
2579082

If fadwie 25 Hier, 44 ier @ik 20 e & w9 A UgH fFU O €, 9u1 D &1 9F 2 Hier 81 ww-sife 31 Jgmar & dava g i)

188 sq. m

A
188 sq. m
168 sq. m

B
168 sq. m

c 178 sq. m
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178 sq. m

198 sq. m

198 sq. m
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 104 Which of the following approaches for calculating area is more accurate?

2579083
S T U & e FRufafe 7 3 wH W alier sive wdie 87
Area by co-ordinates
A
frd=is & orar fawa
Area by Simpson’s one-third rule
B
R & o foerd fraw g1
Area by double mean distances
(o
g T gt g e
Area by offsets
D

e & fewra § dawa

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 105 Which of the following is the simplest tool for establishing caorrect angles?
2579084

iR § 8§ 39 91 98] S0 R0 $F F1 969 930 IUH 87

A Cross staff
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WY T

Optical square

B
ST TR
Prism square
C
i o
Site square
D

HIgE TR
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 106 Which of the following is not a typical cross staff variation?

2579085
P d @ ® wF Aty B9 T e T8 82
Open cross staff
A
I T =IE
French cross staff
B
9 1 wIE
Adjustable cross staff
C
CESEREH I ©H
German cross staff
D

o B "
Correct Ans : D

Subject : Civil Engg.(Diploma)
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Q.No: 107 Which cross staff includes two identical-diameter cylinders stacked one on top of the other?

2579086
fora spTe T 7 €) 9rA-2a A Riferet it 3 o U ¥ SW TS W@ R
Open cross staff
A
I P w=TE
French cross staff
B
LEEInE
Adjustable cross staff
c
TESeEd W1 WIE
Optical square
D

siftwa wrw
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 108 The prism square operates using the same principle as

2579087
T al % 9uH RIS &1 S9am $3d gU 1 a3l §
Cross staff
A
P ©IE
Optical square
B
siffesr wraR
C Prism square
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firsw TR

Site square

Hlge TR
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 109 What is utilised to designate the locations of the survey line's stations and terminating points?

2579088
e wTgA & Rurr o v el ¥ wirdl @1 iy $37 & forg wan Swdn o o 82
Arrows
A
@
Pegs
B
o
Ranging rods
C
i s
Plumb bob
D
W g

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 110 During chaining along a straight line, the leader of the survey party has three arrows and while follower has five arrows, the distance of the follower from the starting
2579089 point will be

et ¥ F WY 4O F SRM, WaET GO & Tl S U 0 AR B § ofeid garl & U Ui dR g1 §, TN fig 9 ergamh 31 gt gt
A Three chain
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& sfRaen

Five chain

e

Two chain

A s

Four Chain
IR g

Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 111 The direction of a survey line can either be established with relation to

2579090
T F R & gdy o ety 1 o wed 2
Each other
A
@ g
Main station
B
T RIA
Arrows
C
Ciid
Tie station
D
o RA

Correct Ans : A
Subject : Civil Engg.(Diploma)

https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 57M11

Page 57



4/23/23, 10:43 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

Q.No: 112 The direction of the line with respect to a specific meridian is

2579091
s faf¥ry Meridian (TR Fued A aifer_ %
Bearing of a line
A
T Y1 31 Ream
Length of a line
B
TS WIgA &1 A
Slope of a line
[o
U X1 & &
Reciprocal of slope of a line
D

U ¥ & gdM &1 Gopd
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 113 line passes through true north and true south
2579092

3@ TS I AR GAP SR0r Y SR ot &

True Meridian

A
I ARTRR (ARTETT)
Magnetic Meridian
B
qaeiy area (ARfEe)
Arbitrary Meridian
C
Wi R (ARkfEo )
D None of the given option
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fw e fawedt & @ w1 761
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 114 Using a magnetic compass, which meridian direction can be determined?

2579093
TP HUM FT ST B, T A AR feww Fuffa o g 20
True Meridian

A
@ qnarR (ARRT)
Magnetic Meridian

B
dastd iR (ARTET)
Arbitrary Meridian

C
wWfese amiy (ARfe)
All meridians

D

Tl TR (RffeT)
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 115 The meridian is used to determine the relative position of lines in a small area.
2579094
F Bre ¥ &7 1 sl 91 wny fRufa @1 Ruo &9 & R BT 1 I o o §
True Meridian
A
T YTRINR (AREE)
B Magnetic Meridian
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gaehy g (ARfde)
Arbitrary Meridian

Cc
wfese gmy (AT
All meridians

D

waft o (dhisaT)
Correct Ans : €
Subject : Civil Engg.(Diploma)

Q.No: 116 A line which makes a horizontal angle with the true meridian is called

2579095
I IR A T @ o e B SRl § 9 g ¢
True bearing
A
we fwar
Magnetic bearing
B
Haw e
Arbitrary bearing
(o)
et R
None of the given options
D

fow g famedf & & w1 gt
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 117 Only in the case of two contour lines with various altitudes combine to produce one line,
2579096
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Fad % e H e g arel < e Y U X 1 i 3 & e e
Hills
A
=
Vertical cliff
B
daad T
Horizontal cliff
C
&ftrer g
Overhanging CIiff
D

sitavafii feaw
Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 118 is the shape of contour lines in case of a valley.
2579097

T % AE § THIET L@ BT SRR T

U shape
A

U PR

V shape
B

V AR

W shape
C

W SPTY

O shape
D

O TR

Correct Ans : B
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Subject : Civil Engg.(Diploma)

Q.No: 119 Closely spaced contour lines indicate a slope.
2579098
e g areft = Yan M &1 g
Steep
A
=g
Gentle
B
frar
Uniform
C
THIAEA
Undulated
D
CrEE)

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 120 is not the classification of the curve.
2579102
b 1 AP0 T8l B

Simple
A

LiEG )

Complex
B

wfew
[» Reverse
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IohH

None of the given options

faw o fiwedt 4 4 w1 T8
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 121 Water is flowing through a horizontal pipe of a non-uniform cross section. At the extreme narrow portion of the pipe, the water will have:

2580277

U ST YR FIe & e Uy § Ukl uaifed & 381 81 URY & Yed "oy U & e, ol & g g -

Maximum pressure and least speed
A

sl gra 3R =gan ard

Least pressure and maximum speed
B

A g Y Aftean e

Both pressure and speed maximum
(o

3t 1 ok aifireew T

Both pressure and speed least
D

Sl T R 9T g
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 122

s5g027g  1he flow speed of air above the aircraft wing is Vi and below the aireraft wing is Vi, then which of

the following 1s comrect for the dynamic lift of the aircraft?
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wReITE 91 & IR gar & gars afd v, § 3R wawewe [ & S ve §, drarper s
SRS e & fov Peaf@a Ay sSla mrad a2

Vi>Va
A
Viz Vs
Vi<V,
B
Vi<Va
=V,
C
Vi=Va
None of the given options
D

forg T fampedt & A 1
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 123 Bernoulli's equation is applied to

2580279
widl sradee WA Ea gl
Venturimeter
A
dgiter
Orifice meter
B
SHivird diex
Pitot tube meter
C
fieTe aq@ diex
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All of the given options

feu ot fowew

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 124 Friction factor in a laminar flow through a pipeline is given by
2580280

U UZUAIE % MW & U yoieed varg # TN SRS ¥ I fEmn 9 B

16

Re

128

Correct Ans : C

Subject : Civil Engg.(Diploma)
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Q.No: 125 Flow past a cylinder is given by

2580281
@ d(REs) F -l e grifem @
Karman vortex street

A
FRAT aﬂ@w@z (Karman vortex street)
Continuity equation

B
Hidd THIPH (Continuity equation)
Prandtl number

C
vigd §& (Prandtl number)
None of the given options

D

g e fywedt & | B 78
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 126 What is the SI unit of surface tension?

2580282
U§ qIE(IRE ) 9 SI ghIE T 87
N-m
A
N-m
N/m
B
N/m
Pa-s
C
Pa-s
D Pa/s
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Pa/s

Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 127 What is the surface energy stored in liquid drop of radius ‘R’ and surface tension 's’?

2580283

gy o *s’ T B R T 979 §8 B WURid Hag e 0 a?

4pRs
A

4pRs

16pR7s
B

16pR3s

8pR3s
c

8pR3s

4pR3s
D

4pRs

Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 128 which of the following is/are the infiltration index/indices?
2580284

fafafas 7 8 S 9y s[-wieT Yaeis/af T /27

f-index

f- qASIH
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W-index
B

W- AT

fa\'e index
C

fie GARIH

All of the given options
D

feu o wsft fawem

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 129 Steady flow energy equation for steam turbine is;

2580285
T TXETRT & R R vawr o SR §;
W=hi-h

A
W=hi-h
W=h:-h

B
W=h-h
W=hA+h

C
W=hr+h
None of the given options

D

forg g fawed 9 & @i Tt

Correct Ans : A
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Subject : Civil Engg.(Diploma)

Q.No: 130 yyhat will be the form factor of a basin having an area of 24300 km? and length of thalweg as 270
2580286 | .

gife (o) & elars 270 fawi qur 24300 fa{i et arer 3R &1 it aors =
grem?

0.33

0.33
0.9

0.9

0.11

0.11
2.7

2.7
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 131 Which of the following bricks are not standardized on the side?
2580304

frfufes § @ @7 @ §¢ R W aFEisa e 82

Modular Bricks
HieTer

B Traditional Bricks
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R §¢

Lime Bricks

T

Cement Bricks
e ot 5

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 132 Which of the below type of bricks conform to the size laid down by the Bureau of Indian standard institution?

2580305
@ @ frm veR 31 & uRdh T S o3 g P s & ey B2
Modular Bricks
A
e &
Traditional Bricks
B
TRRE §
Lime Bricks
C
A
Cement Bricks
D

Hive ot §¢
Correct Ans : A

Subject : Civil Engg.{Diploma)

Q.No: 133 Which metal is used in concrete in civil engineering?
2580307

et geliFrafen o depie # Ry u1g @1 SudiT S o 87
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Steel
A
Eratic
Iron
B
<iigl
Aluminium
C
sreguifgn
Nickel
D
frow

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 134 Structural member in building construction is two types:

2580308

e e & TeereTs T 9 9ER ¥ g €

Suppressive member and Malleable member
A

TeR! wew o Fieta wew

Compressive member and Tensile member
B

wdte Wewa S aear wew

Suppressive member and Ductile member
C

TATET T IR 97 AT

Compressive member and Normal member
D

R v SR W
Correct Ans : B
Subject : Civil Engg.(Diploma)
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Q.No: 135 Concrete is placed inthe mouldonlyto __ and _____ adequate strength later.
2580310
FREFIATFIT o v weigelt & R a1e # v 9 g
Loosen, lose
A
et ST, @i
Harden, lose
B
TR, T
Loosen, gain
C
Shet T, g1fe e
Harden, gain
D

FOR, Y
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 136 It consists of two filtering grids which are reinforced by vertical & horizontal stiffeners and linked by articulated connectors which can be folded to transport on-site.

2580312 hich type of shuttering is this?

il 71 fveefon s 1 § o Sufir iR dfaw fRewr GRI vaitid 510 € 3iv e1fégers oot gR1 93 B1a € R wige W ufkaes & g dist o1 Twdl §1 98 60 veR @1 vl g2

Aluminium Shuttering

A
wegfufam el
Umbrella Shuttering
B
BIeT efir
C Plastic Shuttering
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wifes el

Coffer Shuttering

HIBR efar
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 137 It has been extensively used as beams, columns and plates in construction in a variety of situations, such as foundation, flooring, stairs and roofing. Which wood is this?

2580313
g i, e, Wifedt ofv wa ot faft Rufadr & Fmfo 7 di, Sian oi @et & wu # s & I Sud e 1@ 31 18 oF W awd 32
Cedar Wood
A
YR A T
Bamboo Wood
B
T BT qAHG
Timber Wood
Cc
TR T e
Teak Wood
D
GG G e

Correct Ans : €

Subject : Civil Engg.(Diploma)

Q.No; 138 Which of the following defects in timber cause weakness or other sorts of difficulties?
2580314

THe I FEfaREa & 9 11 91 <9 FH6IR (weakness) T1 30 THR $1 HigASa! o HROT I &2

A Defects due to Natural Forces
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Wigfo® Tl & FROT G

Defects due to Deforestation
B

T B T F TR G

Defects due to Attack by Insects
C

P S TS S RO T

Defects due to Fungi
D

TG & TR
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 139 what are the different types of seasoning of timber?

2580315
e & fafi yeR & A @ 87
Soil Seasoning
A
firgt <o
Water Seasoning
B
SIS HIT
Air Seasoning
C
TR R
Electrical Seasoning
D

fargga weiwor
Correct Ans : A

Subject : Civil Engg.{Diploma)
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Q.No: 140 Which of the following is not one of the advantages of the seasoning of timber?

2580316
fFrmfofea § € #1F W aws & T & w9 T TG 82
Good quality of seasoned wood
A
st st i sreet qora
A large amount is convenient in this process
B
o ferw § T ot i gl @
Well-seasoned timber is formed
C
st T | gl T TR R
It's a fast process
D

g U I Ufeal &

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 141 is done to offer a decorative finish, preserve the surface from the effects of weathering, stop wood from decaying and metal from corroding, and to create a
2580317 (jean, hygienic, and healthy living environment.

TS ToTad] T B & (1Y vl o §, S BT SfUeT F UM F 99 F R, 969 97 987 3 A 9R o1 7 HeRe €9 ¥ I 3 i, R T ww, W o) w0

G T ArERYT s & g faan e §
Coating

A
_Rd
Whitewashing

B
Rl

c Painting
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dfer

Galvanising

fregagst

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No; 142 Which paint is commonly used in walls, doors, windews and metal structures?

2580318
i, Tl il SiR uTg Svarrsl 7 Simd 1R R Ue @1 SuiT e S 82
Enamel Paint
A
ESUERLE
0il Paint
B
S e
Emulsion Paint
(o)
e U
Cement Paint
D

Hide de
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 143 Enamel Paint is nct characterised by
2580319

AT Ge B frar 781 ¥

A Waterproof
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SERIuE

Chemically Resistant

IS vt

Colour Retention

1 ufaemor

Tamperproof

Fsors it

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 144 paint is commonly used in underwater ironworks, concrete foundations, wooden surfaces and iron pipes.
2580320

Y AR W UFt P AN & IR & D, Bmie Bi Hild, Thel @i adel R O & Usy § IyanT fhar o g

Emulsion Paint

A
Fuinh
Bituminous Paint
B
fegfrma e
Aluminium Paint
C
gegftme ¥
Plastic Paint
D

wfies e
Correct Ans : B

Subject : Civil Engg.{Diploma)
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Q.No: 145
2580322
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consists of a finishing coat of small pieces of broken tiles of China glazed or of marble arranged in different patterns set in lime-surkhi or cement mortar.

1 BRI @i g2 §U TR 31 9151 Wi TIRal & B1e-81C gwel O a1 g ¢ forg faft et ¥ soafiya faran oo © o) a-wRadt an wiiffe HieR 7 e o g1

Mosaic Flooring

Hee wfeT

Marble Flooring

TR 67 B

Stone Flocring

T

Tiles Flooring

TEA T

Correct Ans : A

Subject : Civil Engg.({Diploma)

Q.No: 146

2580323

https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

flooring is used in dancing halls and in auditoriums.

T P IUERT SR gfa oY siffeciteam 1 fasar man 81

Mosaic Flooring

TS W

Marble Flooring

TR &7 H™

Stone Flooring

Page 78

78111



4/23/23, 10:43 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx
I Wi

Timber Flooring

FAR Al BT Bl
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 147 is the process of covering rough walls and uneven surfaces in the construction of houses and other structures with a plastic material,
2580325

R AR 3 R & Fafor § wredl DRt 9 A wadl ©) wies aedl A v 1 ulba g,

Plastering
A

T

Holstering
B

grewfa

Taping
C

G5l

Masonry
D

forré

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 148 Which one of the following is a type of wall used in construction?
2580327

fofifes § € o9 @ 1@ TR 31 2ar § e sugm A § o o g 2

Area wall

&7 3t SR

https://mppeb.chexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 79111

Page 79



4/23/23, 10:43 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

Boundary wall

B
T
Perimeter wall
C
Ty B R
Edge wall
D
it it

Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 149 In which of the following type of wall we use steel bars as bonding elements?

2580329
Frafefes # 4 &9 ueR 1 <R # &0 S ddl & w0 7 ¥ Jerdl &1 S9E #3a § ?
Brick Boundary wall
A
gz ot avdiardt
Stone Boundary wall
B
TR 1 IREART
Concrete Boundary wall
C
Ple B TSI
Wooden Boundary wall
D

ol B ARart

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 150 Which of the following is a brick type?
2580330
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fatfE A d e wde R 32
Water Brick
A
o B €T
Sand Brick
B
W\
Clay Brick
C
faft =t e
Burnt Clay Brick
D

welt g% gt i g
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 151 The safe limit speed of a cement-concrete lining is___.

2580407
Hfic-Fwic AT St wREm dm ¥
1.1 m/s
A
1.1 m/s
21 m/s
B
2.1m/s
2.7 m/s
[
2.7 m/s
D 1.8 m/s
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1.8 m/s
Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 152 is the most economical type of lining.
2580408
oy femmd veR 9 et g
Minimum benefit-cost ratio
A
THAAH TH-anTd U
Maximum benefit-cost ratio
B
Sf¥ban aTH-anId U
Zero benefit-cost ratio
C
A ATH-SRTd SgUTd
Benefit-cost ratio = 1
D

TTH-TTG 39T = 1
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 153 Which of the following is not a recommended lining choice for channel sole widths up to 3m under the following guidelines?
2580409

ot fenfER & aga 3 e 7@ o1 torm Ao ot Ia F R Refifea 8 € $9 @ it s fawe w2 22

Single burnt clay tile lining or brick lining

T STl g8 At $1 Trgd @ uvd U1 $¢ Il W™
B PCC slab lining
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diitelt wde wmgir

Flexible membrane lining with adequate earth /tile cover
C

i fdly/ega o & Wy wEdt e sRR

In-situ cement concrete lining in bed as well as on sides
D

g & TY-H1Y fFIRI R 33-Wig Wide Hwie g
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 154 is not a cause for the hydrostatic pressure on the lining.
2580410

A R 39 74 -ERE (FRYCRT) T8 B IR T 8

Seeping of the rainwater in the backfill

A

Foftee § aul oa ®1 Rem

When the water table remains below the canal bed.
B

AT TR TR S a9 S A wa g

The backfill is of low drainage
C

Forfee o1 w8 sta P

The backfill is of high permeability (i.e. > 3 cm/sec)
D

Holtd o I TRITAET (AUl > 3 AW/AET)
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 155 Where drainage relief pockets are provided?
2580411
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3 el uidres Fat SUe ST S &7

In the bed of the canal

A

TRE I

In the sides of the canal
B

TR ¥ e

Both Aand B
C

A 9 B T

None of the given options
D

faw mu fywedt # 4 BIE =g
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 156 The lining of canal is done to control the _ of water.
2580412
& EENEL Eckae KA N R K HEUE T G
Salinity
A
GCLG
Acidity
B
HETdT
Seepage
[
frama

None of the given options

few o fawedt A | w1 T
Correct Ans : C
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Subject : Civil Engg.(Diploma)

Q.No: 157 Among Of the following Which is the good quality of a irrigation method ?

2580413
iR 9 & =1 Ri=r &R w1 ARy o e
Increased Yield
A
a1 g€ darar
Drainage Troubles
B
o Framdt @t wmen
Leached Fertilizers
C
Franfia s
Soil Erosion
D
TaT 3Red

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 158 The method can be used for both flat lands and relatively steep lands is

2580414
I8 fAfY ForereT IuaRT e Y ofR Shangd gar i yfH gl & i f o1 v 82
Basin Flooding
A
i v
Free Flooding
B
o T
C Furrow Method
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B3 wEET

Drip Irrigation Method

fu R Rifyr
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 159 What type of irrigation does this diagram represent?
2580415

g R 69 UHR &1 Riarg &) i g7

Check Flooding
b wEAiET

B Basin Flooding
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IR wfET

Drip Irrigation Method

few R

Border Flooding
arsy wAfST

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 160 What is the effect of scouring in channels?

2580419
Eeciteatt (channels) T® Tty (scouring) &7 &1 UHE TSl 2
The Channel Section gets reduced

A
ARl (channel) W9 $H 81 W4 @
Reduces Discharge Capacity

B
o fPrfe emran sH Y T d
Improper Working of Channel

C
SRS (channel) BT AFRE T/ T
Breaching of Canal Banks

D

TR & 5T 7 ¥ o ol @
Correct Ans : D

Subject : Civil Engg.{Diploma)

Q.No: 161 General shrinkage in cement concrete is caused by-
2580643

Tiife Sepite T G Ripg T HRU Bl 2-
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carbonation

A
PR
stressed due to external load
B
A U & FROT TS
drying with starting with a stiff consistency
C
e R & ATy e $Xd gaEen
drying with starting with a wetter consistency
D

et R & ard = w3 gamn

Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 162 As per IS code practice concrete should be cured at-

2580646
15:456 % YA gR Fufa M25 Swie & T uraie 22
5°C

A
5¢C
10°C

B
10°C
27C

c
27:C
40:C

D
40:C

Correct Ans : €
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Subject : Civil Engg.(Diploma)

Q.No: 163 On which of the following factors, does strength of concrete depend primarily?

2580649
FrffEg 7 € g ®Re RS9I B v T8 ¥4 8 il e @2
Quality of coarse aggregate
A
HE W= O
Quality of fine aggregate
B
wEA Frran 35t o
Fineness of cement
C
wiife ot i
Water-cement ratio
D

-G g
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 164 What is the correct sequence of operations involved in concrete production?

2580650
HeHic I H WA S| BT qal HH T E?
Batch-mixing-handling-transportation
A
au-Rafii- §sRin-gredi
Mixing-batching-handling-transportation
B
C Transportation-handling-mixing-batching
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eiguidw -gsfem-fser -afm

Handling-transportation-mixing-batching

i eradiE - AR
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 165 Compaction factor test is done for the measurement of ?
2580651
WEH S WHEU Y T & ferg fee i @7
Workability of concrete
A
HHIC B AGEIGAT
Compressive Strength of concrete
B
e ot witsT wfd
Tensile Strength of concrete
(o
FPIE B a7 Wi
Maximum strength of concrete
D

Fwte DI JftHad dHd
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 166 With decrease in compressive strength of concrete, brittleness of concrete __ -
2580652

Fepic BT Hiig Tfad 7 I & Wy, Sebie 1 R

A increases
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g W 3

decreases
B

wE et §

remains same
C

CERE

increases exponentially
D

ol Fagm d

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 167 With increase in compressive strength of concrete, shear strength of concrete -

2580653
i B HUkE Wy F G & Wy, date B dm gy
increases
A
TR
decreases
B
T STt 8
remains same
C
o
increases exponentially
D

Gk Coih

Correct Ans : A

Subject : Civil Engg.(Diploma)
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Q.No: 168 With increase in compressive strength of concrete, modulus of elasticity of concrete

2580654
e B we W T ¥ A, PEe B IR i
increases
A
T ERIY
decreases
B
e T §
remains same
(o
@ wm
increases exponentially
D

Tt R agaT®
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 169 With Lower water-cement ratio, durability of concrete

2580655
B S-GHHC ST & HY, HepIc Bl febrHTT
increases
A
T WRIR
decreases
B
e ST e
C remains same
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5T TOW

No relation between durability and water-cement ratio

R 3R wia-difie 3uId & did ®is day gl
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 170 Grading of concrete is based on day strength.
2580656

S H AW A =1 armd W anuifd @ R

7
A

7

14
B

14

28
C

28

30
D

30

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 171 What may be the result of over vibrating of concrete?
2580657

FHIT & HRRE HTF TT RO T G TEHaT 82
Bleeding

=g
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Segregation
B
JUFHIT
Rupture
C
g
Creeping
D
T

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 172 Tensile strength of concrete is of compressive strength of concrete.
2580659
HPIC P T qHd PP W GNP B
5%
A
5%
10%
B
10%
15%
C
15%
20%
D
20%

Carrect Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 173 Bending strength of concrete is of compressive strength of concrete.
2580660
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HEPIC B FHl B e besie B TS Wi P gl

5%

5%
10%

10%
15%

15%
20%

20%
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No; 174 Shear strength of concrete is of compressive strength of concrete.
2580661
Heple B U WE bie 1 WheT @ Bl
5%
A
5%
10%
B
10%
15%
[of
15%
D 20%
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20%

Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 175 Maximum size of coarse aggregate specified by 15-456 for Compressive strength test is -

2580662
FUEE WY 2% F T 15-456 R Y @ white &1 fiTad R & -
25mm

A
25mm
32mm

B
32mm
38mm

C
38mm
40mm

D
40mm

Correct Ans : €

Subject : Civil Engg.(Diploma)

Q.No: 176 Test specimens of 150 x 150 x 150 mm are stored at which temperature during Compressive strength test?
2580663

FURIE WY T/ ( Compressive strength test) # §RF 150 x 150 x 150 firlt % 2% Suw &1 5y aomm w €R e s &2
25x3¢C

25x3¢°C

B 2Zx3°C
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22x3¢C

25%5°C
C

25+£5°C

27+£3°C
D

27+£3°C

Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 177 While using concrete during road construction, the slump value should be in the range of-

2580664

T P & ERM bole BT IFTN HRa T, WU Ted H1 W S IiRe-

20 to 40
A

20¥ 40

25t0 50
B

259 50

10 to 25
c

109 25

40 to 50
D

40 ¥ 50

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 178 For concrete completely immersed in sea water, the minimum grade of concrete to be used is -
2580665
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T & U A gl akg 9 g U EHIE & o ST T 9 a1 Sele o am IS § -

M 25
A

M 25

M 30
B

M 30

M 35
C

M 35

M 40
D

M 40

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 179 For concrete members buried under aggressive subsoil or ground water, the minimum grade of concrete to be used is -

2580666
SIEFT® SU-T&1 A1 45 & 719 &3 Sebic ¥ o Swdi fFe o ard Fbie T g 98 8 -
M 25
A
M 25
M 30
B
M 30
M35
[
M 35
D M 40
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M 40
Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 180 Rate of creep with time
2580673

W1 B < Y F WY

increases
A

73 WA 2

decreases
B

¥ ot §

remains same
C

CHRGU

No relation between time and rate of creep
D

T AR F0 A W F A oy T8
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 181 For a rectangular beam Limiting value of mement of resistance reinforced with Fe 415 is?
2583248

Fe 415 & 1 vafera e i % i ufediy & syl &1 Wit 79 #@m 82
0.148 fck bd?

0.148 fck bd?

B 0.133 fck bd?
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0.133 fck bd?
0.141 fck bd?

0.141 fck bd?
0.138 fck bd?

0.138 fck bd?

Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 182 In a singly-reinforced beam, if the permissible stress in concrete reaches earlier than that in steel, the beam section is called:

2583249
THa-TEf @ H, of i § iy 7a Wia $1 geen § Ued Ugd 9 g, & €9 TS T P e o-
Economic section
A
i &=
Over-reinforced section
B
sifar wafera argumT
Critical section
C
HEwEQ T
Under-reinforced sectien
D

SHER-afE U
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 183 Unfactored maximum bending moments at a section of a reinforced concrete beam are 50, 80, 120 and 180 kNm under dead, live, wind and earthquake load
2583250 respectively. The design moment according to [S: 456-2000 for limit state of collapse (flexure) is :-
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U TR Peic S % UF TS W SIIad Sifiiaar o1 3 & B 50, 80, 120 #{R 180 kNm § i Td, Sifad, 541 3% 3@U ¥R F dod gl 3MSqT: 456-
2000 F STER UeA &1 W1 (FREER) 3 R ¥ o e e ¥

250 kNm
A

250 kNm

372 kNm
B

372 kNm

195 kNm
C

195 kNm

315 kNm
D

315 kNm

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 184 For an reinforcing bars under compression, the average bond stress can be increased by

2583251
WiigH ¥ d5d TP Aoled 98 $ [N, $fR S8 % GRI G S Tbell §
25%
A
25%
35%
B
35%
50%
C
50%
D 65%
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65%
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 185 When the steel bars are embedded in the concrete, the concrete after setting, adheres to the surface of the bars and thus resist any force that tends to pull or push this
2583252 o4, Then the intensity of this adhesive force is called-

e W B ga! B devic TN Wk &, A 3T ¥ a1g dekic, D! Bl OaE T U $Ial § R 59 UER ot ot 7w o fkly Ran § 9 59 9T &1 WiTH W Yot ¢ & o aem s g
e 39 e a1 o @ Jigar dedld 2-

shear stress

A
FaR-t
bond stress
B
Y= TG
compressive stress
C
Tftg= W T
none of the given optiens
D

fw w fwedi & A o1 T8
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 186 According to IS 456, nominal mix concrete may be used for concrete of grades up to-
2583253

ST 456 F TUR, Tiblaw [0 Swle H1 Iudm I8 & Swle & R faran o1 Tl ¢
7.5 MPa

7.5 TAdY

B 10 MPa
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10 THdle

15 MPa
C

15 TadY

20 MPa
D

20 Ty

Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 187 Poisson's ratio for the concrete -

2583254
@epic & 1Y WigE Bl SiUd-
remains unchanged
A
sufvafda g o §
increases with richer mixes
B
T ol F Wy gea g
decreases with richer mixes
C
wU Tl & WY ue §
none of the given options
D

o g fawedt & A w1 =g
Correct Ans : €

Subject : Civil Engg.(Diploma)

Q.No: 188 For Steel Modulus of elasticity of shall be taken as:
2583255
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SN 1 I T A 9 U foram SIQ:

200 EN/mm?
A

200 kN/mm?

2 x 103 N/mm?
B

2 % 103 N/mm?

2 x 104 N/'mm?
C

2 % 104 N/mm?

2 x 102 N/'mm?
D

2 % 102 N/mum?

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 189 1In the reinforced concrete the grade of concrete generally not used is :
2583256

yafrd e I AR TR ITERT ] 6T oI a1l deple o1 I8 T 87

M40
A

M40

M20
B

M20

M25
C

M25
D M10
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M10
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 190 For a structural member is generally designed so that the material is stressed up to the:

2583257
T TR 3G & 10 o7 AR W (&g R S § a9 W SR o o %
Yield stress
A
LR GEIL
Ultimate stress
B
UIH d91d
Breaking stress
C
g91d I digT
Working stress
D

FTH T PT a6
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 191 For Fe 500 steel , what will be the minimum yield strength (MPA) of used as reinforcement in concrete?

2583258
Hic YLdIHU & TU H JuaNT [T 9 a1 Ths 500 Wie ST <IaH 39 Wad (THWT) T grit?
550

A
550
500

B
500
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415
C

415

250
D

250

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 192 In a cantilever beam, tensile or main reinforcement is provided:

2583259
Hepe A F, T 7 gET Gee el U el o 8-
On the bottom or lower face of the beam
A
faFrRafRiww
On the top or upper face of the beam
B
9 & TR T ITH I W
On both the top and bottom of the beam
c
7 F W o TR T w
In the middle of the beam
D

TFdd

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 193 According to IS 456-2000, When HYSD bars are used, the minimum reinforcement in either direction of slabs is :
2583260

IS 456-2000 % 3UR, W€ HYSD IR &1 IU4N {37 9 8, 0 wae o1 il off e § =gaw gedle=u g @

A 0.35% of the total cross sectional area
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el WIG YA &5 BT 0.35%

0.12% of the total cross sectional area
B

A PIY T 87 BT 0.12%

0.80% of the total cross sectional area
C

A HIF YoRFd &7 BT 0.80%

0.25% of the total cross sectional area
D

T I JRAT & BT 0.25%
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 194 Nominal mix M20 concrete represent the nearest ingredients ratio is

2583261
Tidstaes flsor M20 Sle Fmean Tt srurd @1 ufaiiftiE B g
1:3:6
A
1:3:6
1:2:4
B
1:2:4
1:1.5:3
C
1:1.5:3
1:1:2
D
1:1:2

Correct Ans : C

Subject : Civil Engg.(Diploma)
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Q.No: 195 1In slab, beam, column and footing the minimum clear covers (in mm) to the main steel bars are respectively-

2583262
W, S, Pian AR pen i 7o € ar & e gHan Wy oo (e i) me §
10, 15, 20, 25
A
10, 15, 20, 25
15, 25, 40, 75
B
15, 25, 40, 75
20, 25, 30,40
c
20, 25, 30,40
20, 35, 40, 75
D

20, 35,40, 75
Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 196 In Case of reinforced concrete in sea-water or exposed directly along the sea-coast grade shall be at-least-

2583263
T & Ul T HaiTd Hshic & Te I 91 Y Wg-aC WY ISR EH W IS $0 9 HH gl diiel-
M 20
A
M 20
M 30
B
M 30
C M 25
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M 25

M 40

M 40
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 197 Grades of concrete, for a reinforced concrete shall not be lower than :

2583264
yfere Seie & e Bewie & U Fu d o 7E g
M10
A
M10
M15
B
M15
M20
C
M20
M7.5
D
M75

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 198 The yield strength of HYSD and CT (Cold Twisted) bars:

2583265
HYSD #iR CT B3 1 Td Bl
250 MPa
A
250 MPa
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415 MPa
B

415 MPa

450 MPa
C

450 MPa

500 MPa
D

500 MPa

Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 199 which of the following is NOT considered as dead load?

2583266
frafafes 3§ § 58 9 wR 78 g 9 g2
Erection load
A
ZYERME de
Self-weight of the floor slab
B
o w4 B @-q9
Self-weight of a beam
C
W $1 W-4R
Self-weight of a column
D

Y BT W-HT
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 200 IS 456: 1978, recommends to provide certain minimum steel in a RCC beam
2583269
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LT 456: 1978, SIRRT € & Fe aan wia Uer &3 3t feie s §

To ensure compression failure

A
Titem e gl v ¥ forg
To avoid rupture of steel in case a flexural comp failure occurs
B
T FelRged 1A fathaal i @t Rl A <a & gea S aa & fog
To hold the stirrups steel in position more
C
e et ot oftre fRufy & vam & forg
To previde enough ductility to the beam capacity
D

0 & #1 wafe T veE SR
Correct Ans : D

Subject : Civil Engg.(Diploma)
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